ALL KERALA BHAVAN’S SCHOLARSHIP
EXAMINATION 2014-2015

Duration: 90 min
Max.Marks:100

GENERAL INSTRUCTIONS

| (for class IlI- X, XI(commerce), Xll(commerce))

Read the instructions carefully before answering

1. Please fill up your Roll No. and class in the box provided on the

gy answer sheet.
2. This question booklet contains 50 questions and 5 Tie Breaker

questions. All questions including Tie Breaker Questions are
mandatory. Tie Breaker questions would be evaluated only in

case of a Tie.
3. Each question carries 2marks.

4. Each question has 4 answer choices 3, b, c, d.
For each question, select the best/correct option and darken the

oval com pletely against the corresponding question in the

2 answer sheet provided.
6. Use blue/black ball point pen to darken the oval.

7. Darken only one oval against each question.
8. There will be no negative marking.
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BS 0006

STD V| Marks: 100 Marks

Time : 1}/, hrs

.Choose the correct answer from the options given

1.

N

11.

12.

13.

T
\ i =

She is an artist married to European engineer
a) the b) an c) a d) none of these
The abstract noun for child

a) childish b) childishly c) childhood d) child

Ravi, along with his family coming to visit us
a) Is b) are c) were d) has

Find out the antonym of the word ‘freezing’

a) wistful b)scorching c) energetic  d) enthusiastic
She is pretty her sister is ugly

a) and b) but c) because d) or

| have a surprise you

a) of b) to c) for d) on

My brother every morning

a) swim b) swims c) swam d) swum

Only books in the library are useful

a) thefew b)few c) afew d) a

The accident took place the train was crossing the bridge.
a) as b) since c) while d) when

ctively. Find the

30 litres, 70 litres and 105 litres of kerosene respe

Three bottles contain
e three containers exact

mum capacity of a container that can measure kerosene of th

maxi
number of times
a) 5 b) 3 c)6 d) 15
How many prime numbers are between 50 and 100?
a) 10 b) 11 c)9 d)8
Find the value of 40-(-32)-(-3)-110
a) 35 b)-185 c)75 d)-35

Which among the following is the greatest?

7 4 6 5

8 5 7 6

RIS

a) g' b)

iy, i N T A 2 A

e BT P e T
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14. The perimeter of a rectangular g
15.

16.

17.

18.
18.
20.
21.
22,
23.
24,
25,
26.
27.
28,

29,

is8&m, then the length Is

5 breadthd) none of these

it
ardenis 24 M and |

a) 3m b) 12m c) 4m i
2.5+ 3.05-4.005 is 45
a) 1.455 b)1.554 c)0. s
Number of diagonals of regular penta:o d)7
c)1
a) 9 b)8 2
orkisle

A worker finished ¥ of his work. How mu<1:h w ) _1_

3 2 p |
a) = b) — c) 4 :

2 4

t2mm- m 2 d) 0.42
a)  0.042 b)0.0042  c)0.0004 ring cooking?
Which one of the following gets destroyed bY heat du P
a)  VitaminA  b)Vitamin B c) Vitamin C
Looms are related to -

a)  Shearing b)spinning  c) weaving o
When no more salt dissolves in water at a particular temperature, t:‘;;lt unsa::'r‘;: '; Callgg
a)  Unsaturated b) saturated. c) partially saturated d) partially e

The joint which allows movement in all the directions is

3] Ballandsocket b)hinge c)gliding d) pivot
Which of the following cannot cast shadow?
a)  glassplate b) book  ¢) mirror d) cardboard (
The process of settling down of particles of a solid in a liquid is -
a) decantation b) sublimation ¢ filtration d) sedimentation
Anther and filament are the parts of
a)  Petals b) sepals ¢) stamen d) pistil
The Sl unit of temperature is
a) Degree Celsius b) Fahrenheit ¢) Calorie d) Kelvin
Which of the following gas is not soluble in water?
3l Nitrogen b) Oxygen ¢) Carbon dioxide  d) Ammonia
~——— Isanimportant Neolithic site in Assam,
a Hyrani :
KZJIkatta :Is Iothed at 90’ IonZ?tuMth::iZT ° Mlsmegln ) Daojal Harding
. ondon at 0 longitude., What will be the time

difference between two places? _

2 3hours b) 6 hours ¢) 4 hours d) 8 hours
2
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30.

3.

32.

33.

34.

35.

36.

37.

38.

39,

40.

41.

42,

> 43,

-

44,

45,

BS 0006

Seats in the Panchayati py:
Yati R
reserved for women. | SSe——n Seats are
a) two-third

et . b) half ¢) three. fourth
Ch one of the followmg continents |jeg on both
a) Africa

sides of €quator?
b)‘ North America ¢) Australia d)
ellite to orhjt earth? e

b) Explorer 1
to describe India w

d) one- thirg
Which is the first artificia sat
a) Sputnik- 1

Th hr C) Van
't d _]

\d) Discoverer.1

- as coined b
a) Rabindranath Tagore b) Jawaharla| Nehruy
c) Sardar Vallabhbhaj pate| 4 Mahatma Gandhi

In the Indian subcontinent, the first cities e

merged in the valley of
a) River Ganga

b) River Sutlej

The largest democratic country in the world s 7 Rverindus ) River Cherat
a)  Britain b) India ¢) United States g Japan

The planet known as ‘Earth’s twin’ is

a) Jupiter b) Saturn ¢) Venus d) Mars

What was the real name of Mother Theresa?

a) Agnes b) Esther c) Elizabeth d) Aaron
Which of the following countries is the host of 2016 Olympic games?

a) Brazil b} Italy ¢} United Kingdom d) UsA

A badminton player nicknamed ‘Super Dan’ by his fans, won a gold medal in the men’s
singles event in London Olympics 2012.

a) Lin Dan b) Fa Hien c) Aann Lee d) Lu Hien
Which river is known as Bengal’s sorrow? '
a) Ganga b) Godavari c¢) Damodar d) Tapti

Who is the author of the book ‘A long walk to freedom’? R
a) Mark Twain b) Nelson Mandela c) Tom Sawyer  d) Maha
ost poisonous fish in the world is ' o
Z)he m Leo‘:'l fish b) Puffer fish c) Sting ray - d) ?cc;rnpelfgny ::,ogramme )
f ientist widely regarded as the father of the Indian Atomlz) e ooy
s scie . ' \
A} ajmouh dji Tata 'b) Homi J Bhabha c) Vikram Sarabhai
a) Jamshe

rdis
The number of squares on a chess boa

d) 62
a) 49 b) 64 ) 81 - n)itsfirstattempt?
ich is the first nation to reach marsorbl.to 8 India
V\)/hICh IS.t e b) USA ¢) China
a) Russia
3

v
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46.

47.

48.

49.

50.

was five days before the day after Saturday’s

What day would tomorrow be, if yesterday

tomorrow? ) Monday ¢) Saturday d) Thursday
a) Sunday 12 members shook hands with each other before and after meeting.

At a conference,
f handshakes occurred?
How many total number o )

a) 100 b) 132 c) 145 d) 121
A grandfather and his grandson have the same birthday date. For six consecutive birth-

Days, the grandfather was a multiple of the grandson’s age. How old were each at the sixth of the,

birthday?
a) 55,5 b) 66,6 c)44,4 d) 77,7 ‘

Fred can eat 27 chocolates in an hour. Alice can eat 2 chocolates in 10 minutes and

Kelley can eat 7 chocolates in 20 minutes. How long will it take them to share and eat 3 large box,

120 chocolates?
a) 1"/, hours  b) 3 hours c) 4 hours d) 2 hours

Water is to pipe as is to a cord.
a) Wire b) Electricity  c) Heat d) Gas

TIE BREAKER

. If BUS is written as CVT the CAR may be written as

a) ROP b) BCS c) HIJ d) DBS ¢
\

. The horizontal rows on a chess board are called

a) Lines  b)Ranks c) Files  d) rooks

. Which is the mirror image of AMBULANCE

a)FIOVIAIUEMA, ) ICUAIUEMA c) FONAJUGMA d) IONAIUBMA

. My mother home after two months,

a) was coming b) has come c) had come d) is coming

- Mis the son of P. Qis the granddaughter of O, who is the husband of P. How is M

related to 0?

a) son b) father ¢) daughter d) mother
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